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Directions : In question nurnbers 1 to 6, select the related | 10.

PART -

word /letters/number from the given alternatives.

v T aEen 1364 feu mu fasredi § A gafrm vt/ | 11

1.

el /wEm F1 g |
BLOCKED : YOLXPVW :: _? :0OZFMMXS
(&) LAUNNCH {'H] RESULTS
(O LABOURS (D) DEBATES
Garbage : House : : Gangue: _? _
(A) Factory (B) Office
© Drugs (D) Ore
AU T ;o ST 2
(A) FREM (B) FHEieE
© Y (D) ¥F%
FIG:EGHJFH::BIN:_?
(A) CAJHOM (B) CAHIMOC
(O ACJHMO (D) ACHMO
DBU:EEZ::CJH:_?
(A) DMM (B) DNN
(0 DMN (D) DNM
G427 P
(A) 56 (B) 40 Q) 52 (D} 48
L. 72::8: 2
(Ay .0 (B) 32 (C) 36 (D) 38

Directions : In question numbers 7 to 12, find the odd word/

letters/ number from the given alternatives.

frdwr : v den 7R 12 9, R e fawed § | foauw wsy

R/ qEm )

7.

(A) MAYOR
(O GOVERNOR

(A) TR
(© 9=

(A) ACUTE
(O OBTUSE

(A) =1
(€ =fu=s

(A) 50

(B) 120

() LAWYER
(D) LEGISLATOR

(B) THIE
(URELIKED

(B) RIGHT
(D) PARALLEL

®)
(D)WW

© 145 (D) 37

A/ W - &
GENERAL INTELLIGENCE & REASONING / R gfgHal Ua aehviied

15.

16.

17.

12

13.

14.

(A) 1331 (B) 191 (O 200 (D) 808
(A) ERKU B) PERU
(O OKHA (D) ANDI
(A) BV (B) BS © 1Z D) DX

Arrange the following words as per order in the
dictionary :

fr=fafad =+ s H fou ™ %7 F sqEn
ford -

(a) Hale (b) Hake
(d) Hamlet (e) Ham
(A) (b). (a), (c) (e). (d) (B) (b), () (e). (d). (a)
(© (b)(a)(d). (c). (&) D) (a), (<), (). (b), (d)

(€) Halt

If the words are organised in reverse order of what
they appear in dictionary, which word will come in
the third place? -

afe wiegi 1 2 a9 3 weEmw d oW £ 398 3w
w1 ¥ sygityg fea o @t 99 =m w S - e

e ?
(A) Occulist (B) Ordeum
(C) Odious D) Odium

Directions : In question numbers 15 to 17, which one set of
letters/numbers when sequentially placed at the gaps in
the given letter series shall complete it ?

feer : wA wem 15 R 17 9, NeRi/Hemsl ®1 - I
et T TUFHER T ¥ € S e &g & m ?

SH_ELAS EELA_HEELASHEE_A
(A) EHSL ®) EEHS
(©) HHSS O) ELHA
__aba__ba_ab

(A) bbaba (8) abbab
(O abbbb (D) baabb
12 _41 _ 34123 _ _ 234

(A) 3212 (B} 2134
© 3241 (D) 1432

S55-2015/Page2
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18.

19.

Find the missing number.

T HEA I Hifa |
2,5,10,17, 26, _?
(A) 36 (B) 37

© 47 D) 49

Introducing a man, a woman said “His mother is
the only daughter of my father”. How is the man
related to the women ?

(A) Father (B) Son
(C) Uncle () Brother

U T4 1 U=d O g0 O wigen A F7, gwat
A 5 fran i gehetdr Ot §1'' e wfeen @ fea

YR Hafud g ?
(A) T (B 7
(© == D) g

If“air’ is called ‘green’, ‘green’ is called "blue’, "'blue’
is called “sky’, "sky’ is called “yellow’, "yellow’ is
called ‘water’ and "water’ is called “pink’ then what

is the colour of clear sky ?

(A) Blue (B) Sky
(O Yellow (D) Water

Afg 'arg’ 1 &0 FR I, B W e,
‘et e we W, A w8 e’ e
i@ @ aE e S SR e &6 e
el 9 T HIE SR T T 5 a2

(A) e (B) T

Q dien D) g

Find the number that is common for all of the clues
given below :

(@) Virgo

(b) Volley ball

(c) A highest scoring shot of a particular sport

(d) Extra sensory perceptions

12 Ry o vt WAl & fore g Hemn 99y
(@ ==

(b) afet sfe

(c) Tavu @el =1 walfUF % W w1 Jen uie
(@) 3feam s

(A) 4 B) 8 © 2 D) 6

23.

24.

26.

27.

From the given alternative words, select the word
which cannot be formed using the letters of the given
word '

ﬁﬂlﬁmﬁmﬁﬁﬂ%mﬁﬁmﬁﬁﬁqu

o 3eql T WA ek 991 TR o Gl 2
BOOK BINDING'

(A) DIGGING (B) BONDING
(©) DINING (D) DOING

Which of the following jumbled word is not an
animal ?

frfefaa sorafer v=6i 4 @ $9-91 1= A
T&T &2

(A) LATHPEEN (B) TICRECK
(O FEFEOC (D) TAR
MName a single letter, which can be deleted from the

body of the following words to form entirely new
words ?

T e ¥ 79 weg 79 & o Frefafee w=ki 7 49
F-T1 U 315 T2 N T 6 2

HOST POST COST LOST STOP

(A) O B) S QT o) P

In a certain coding system, APPLE stands for ETTPL
What is the code for 'DELHI" ?

frdi we =aen § APPLE RS2 ETTPI® 1 ‘DELHI

=1 IS 991 'm 7
(A) COMND (B) CQPLM
() ZAHDE (D) HIPLM

If CUSTOM is written as UCTSMO then how
PARENT be written in the same code ?

Ffe CUSTOM & UCTSMO &8 ¥ foran wran ® at

36t i T PARENT ! $9 foran smum 2
(A) APERTN (B) RAPTNE
(© TNERAP (D) ERAPTN

In a certain code, FRACTION is written as
FNAITCOR. How is QUANTITATIVE written in
that code ?

fedt w2 1 FRACTION 1 FNAITCOR % &9 |
foran s € O 391 F1E § QUANTITATIVE #1 8
foran smam ?

(A) QIATAETUTNVI
(© QTNAVIAITETU

(B) QTEATUIAVITN
(D) QEAITATITNVU

SPACE FOR ROUGH WORK / 1% %14 & fod wg
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28, "+ " means X', '—"means '+, "X means ‘=’
and ‘ + ' fneans * + ' then what will be the value of
16+64—-8x4+2.

AR+ FAR X, — TR+, X A~
R+ FIAF 4+ TR 16=64—8x 4+ 2 Tl TH 0
B 2

(A) 18 (B) 12 © 24 DO} 16

29. To identify the correct response from the given
premises stated according to following symbols.

‘A’ stands for not less than (4)
‘B’ stands for not equal to (#)

“C’ stands for not greater than ( #)
'Dr stands for greater than (=)

‘E’ stands for less than (<)

'F’ stands for equal to (=)
Premises : 4YF3x and 3xF6Z

frefafas ydtel % sigan fog e A @ wd IW
a1 Hifag)

‘AFad'IFEa TR ()

B W ad'F T R ()
‘cEad ' F g (P

D Fad AT’ ¥ (>)

Ewad'aFn (<

FH A FamE (=)

FUA : 4YF3x 311 3xF6Z

(A) 4YB5Z (B) 2YF3Z
(O 2YD3Z (D) 2YE3Z

Directions: Mquesﬁdn numbers 30 to 34, select the missing
number from the given responses.

ey : v W 309 34 1, R faedt 7 | @ A
A i |

30. 6 2 1
4 B8 = 2
5 E: l '3 4
; 4

(A) 451 (B) 154 (O 702 (D) 535
"D

(A) 1231 ®) 1321

© 1331 (D) 1332

32

33.

35.

36.

ARV
A

WAR
Y\ |/

(a) 7 B) -12 (@ 12 D) 9

[ 40 32 72 12

I 30 24 54 9

I 54 ? 90 15

(A) 49 B) 46 (©) 48 D) 36
3 7 10

1 |60] 4 |16 |84 " I13 1?1 3

3 2 1

(A) 90 (B) 12 (C) 48 D) 16
Ravi is walking in the East direction. After covering
a distance of one kilometer, he turns 45° left and
then 90° right. In which direction is he now ?

(A) North (B) North West

C) North East (D) West

T femdae wi = Fa S asa
& A1S T8 45° 910 51 € AR R ooe e qear ¥1 3
g uE fre fem § 272

(A) I (B) I ufe=m

©). T (D) viF=m

Veena and Veeru both start from a point towards

Morth. Veena turns to left after walking 10km. Veeru
turns to right after walking the same distance. Veena
waits for some time and then walks another 5 km.
Whereas Veeru walks only 3 km. They both then
return towards South and walk 15 km. How faris

Veena from Veeru ?
(A) 8km (B} 10km
(O 12km (D) 15km

g1 3t die S T E 4 I fom 5o g
F@ &1 10 . 99 F 9 9l 12 9 R
% oft 391 € wo ¥ 9 I g2 W §1
99 ¥ fau vl ¢ o w5 feodt. ofie =t 21
Fafe 9% Fad 3 5.1, goa €)1 T 9 261 gl
fam of wited € 3 15 @ 9= 1 @ Ete A

et gr @2
(A) 8 .. ®) 10 fE.
(© 12 f&.h. D) 15 ..

SPACE FOR ROUGH WORK / & &1d & fad wme
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Directions : In question numbers 37 and 38, one or two
statements is given followed by two Conclusions/
Assumptions, [ and I1. You have to consider the statement
to be true, even if it seems to be at variance from commonly
known facts. You are to decide which of the given
conclusions/assumptions can definitely be drawn from
the given statement. Indicate your answer.

Fdyr : wed w37 A 38 §, U T ) a9 e R,
fora amh S freed /rand, 1 ofR 11 feeret T ®1 amTeRt
foam %t 2 % 9991 99 ® 91 9% 91=a: 99 9l 8
fim R e el s o st R s g 4
Fi9-1 fafraa &g o wet Fred /ar=ren faeren o0 aahan €1
a1 IR F fAfde wifag)

37. Statements:Norodis pod. No pod is flexible. So
Assumptions:
L Norod isflexible.
II. Some pods are flexible. )
(A) Only inference I follows:
(B) Only inference I follows.
(C) Both of them follows.

(D} Neither of them follows.

oA : F1§ B8 Fell @l &1 FIE Telt Adtel 7@l
.4

Hi=AT :

L S 9T we 98 2|

L. T3 Hiodl adiel g1

(A) et T [ et €

(B) Faa "l 11 Fihamt B

(© 2 w=ran fererdt 1

(D) <F1 9 § 13 A= T8l kel |

39.

40.

Statement : A good book evenif costly issold outin
no time.

Assumptions:

. Some books are better than others.

[I. Allgood books are costly.

(A) Only Ifollows.

(B) Only II follows.

() Neither InorII follows.
(D) BothIand IT follows.

e T AR e e W g T |
H forer el &

AT :

L 59 79 A= 9 A8t ol T

I T4 7=t e wen gt #

(A) +ad Aral I e €1

(B) Fac A= II feperd! & |

(© 7 AL SR 7 @ 1 et #1

(D) W=rar 1 3 I 2 e B

Find out the number of circles in this figure :

(A) 20 (B) 19 D) 16

In the question one part of the problem figure is
subtracted. Select the option that shows the correct
shape after subtraction.

70 ¥ H w9 ogfa &1 us wm oter fea g
U famheq ST W1 o7 FA & @16 99 w9 g9
Bl

© 18

Question figures/ W BITW -
£ ?
L% - )
Answer figures /3T 3T ferdl :
lIENIEEA DN
(A) (B} © D)

SPACE FOR ROUGH WORK / T% &4 & fod W
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41. Directions: Two positions of a dice are shown below.
Whefl three is at the top what number will be at the

bottom.
frdor - 9w A w9 feafl oo ™ E AR
T [ 2 3 = SE-H den 22
o] * HED i‘
(A) 5 B 2 (C} 1 D) 4

Study the diagram and answer question number 42.
ST HT AL BT AR G H2SA 42 F1 3T o0
42. The qualified and experienced doctors are working
in villages represented by ?
Tiar # FriE afdd vd eyt gl = wiatfE
frame?

Qualified doctors,/
A aAfea STt

Experienced doctors/
FVET Bfeel

O D-:n.turs- wm-king in villages /1

® 6 Q 4 D) 5

Directions : In question numbers 43 and 44. Identify the
diagram that best represents the relationship among classes
given below :

frder : Gy HEm 43 A 44§ T SE FE SN S
Frefafas At F ofe gaifys d=9 5 <o € :
43. Christians, Catholics, Pope

o, Fdifes, T
(A) (B) (©) (D)
44, Vegetables, Potatos, Eatables
wfesai, 2T, | TS
(A) ® (TP

{C} {D}

Directions : In question numbers 45 and 46, which answer
figure will complete the pattern in the question figure ?

fader : 7 H=m 45 3R 46 §, FE-H TR TFfA A
Jepfa & wioey &1 70 F0 ?

45. Question figure/ WY HTHTT :

(A) (B) © D)

Question figure /¥ amepfa

Answer figures /37T 3TEHfadl :

(A)

®) (©)

(D)

47. From the given answer figures, select the one in

which the question figure is hidden/embedded ?

&t é e anfadt # @ 39 I arfa 1 9 fead
w1 arFfa fifea €2

Question figure /W9 A :

Al

Answer figures /3T 3T Tadl :

A) (B) (©) (D)

SPACE FOR ROUGH WORK / & 14 & fad s
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49.

A piece of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened?

A v apfad # femn SITER $re i AgET
FEA T BT & 1% 9¢ fHa I Arnfa St g

Im?
Question figure/T¥T 3T :
i 0
o
Answer ngres,r’aﬂ'-l'alﬁﬁﬁ :
...... Slre vyl
%P ‘ an;c:ﬂ 4 o ! 0
(A) (B) (©) (D)

If a mirror is places on the line MN, then which of
the answer figures is the right image of the given
figure ?

afz w20 S MN 1@ R @ 99 o o T W
SRR H R A T T S i e whfara
Bl ?

Question figure /T TR :
M
N

Answer figures, SaT 3&faai -

<

)

(B} (<)

50.

A word is represented by only one set of numbers as
given in any one of the alternatives. The sets of
numbers given in the alternatives are represented
by two classes of alphabets as in two matrices given
below. The columns and rows of Matrix-I are
numbered from 0 to 4 and that of Matrix-II are
numbered from 5 109, A letter trom these matrices
can be represented first by its row and next by its
column, e.g., ‘A’ can be represented by 01, 14 etc.,
and M can be represented by 56, 68 etc. Similarly,
you have to identify the set for the word "EAGLE".

UF =8 H9d Uk S@N-HE R0 S T €, A
f Tawedi o 4 ford W o oo mn 1 faseedi o
fem e wen-wE Aed % & anil g T T E,
St o <t fem o €1 oTegEl F 1 aEgE-1 F W
st v Fr a0 4 H § 7 § o swEg-11
591 37 AR | U A& F) Ugel 39 &1 Ui IR
aq1g o W WS g1 STl S Wehal 1 39T H
forg “ A’ 101, 14 2nfE SR T W1 FHa & 99 M
56, 68 3T GRT 29T S0 Tehal &1 IO WE | 3GH
vy # feu v ‘EAGLE’ % o 79z %1 vg=m 2

Matrix/ 3(regg - 11

Matrix / 37eqg - I
1

A

R

P

G

W | B2 DD

=i NOl=| o
| N(O
MO =] w
ol
Z1Z2|Q||m]w
HIOIZIm|Z] >
ZIZ| Ol
Qimj— || Z] >
=z

&

k-1 -1 E RS

(A) 55,14, 11,78, 66

(B) 99,01,44, 9, 77

(C) 88,22,31,89,76

(D) 66,43, 44,79, 88

SPACE FOR ROUGH WORK / T® &1d & foa we
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39.

40.

41.

43.

FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CANDIDATES ONLY
qredT Ifeant o fau

hael gieaTed /dh

Select the related number from the given alternatives.
feu U fasedl § | grafa g F 9w

< ot by ool O S

(A) 22 (B) 29 (C) 18 D) 51
How many 7's are followed by and preceded by
number’s divisible by 27

2 ® fawiferg ¥ arelt Hem & a5 3R vEd e 7

M E?
7,2,7,6,7,8,7,5,4,7,8,5,7,6,7,2,5,7,3,7,6,8,5,
7.1.7.6,7,2,7,8,6.7,2.5

(A) 10 ®) 8 © 12 D) 11

Identify the group of letters which can complete the

SEeT1esS.
A&R1 1 TH TE 91 DI S @ G FHIMN

¢_ac_aa_aa_bc_bec
(A) cabba (B) cocbbb
(©) bbbbb (D) cbacb

If SELLER. is written as UCNJGP, how can BUBBLE
be written in that code ?

af¢ SELLER %1 &t g § UCNIGP famn s g &

34t ®Ig | BUBBLE &1 8 foran smom ?
(A) DSDZNC (B) ZWZDJC
(© DWDDNG (D) ZSZZ]JC

Name a single letter, which can be deleted from the
body of the following words to form entirely new
words ?

TH U AR FaRY 51 I oE 78 = A & fag

frafafaa w=i o A T w1 gear £ 2
RAFID RAPT SPLIT SPOIL SPUN
(A) P ® I ©rT D) S

Substitute the appropriate numbers to make the
equation correct.

fau o T it 9 o o e g fafau
74+7-72+7=20

(A) 20,30,10,2 (B) 20,15,5,2

©Q 29,15,5,2 D) 30,5,15,2

At the end of a banquet 10 people shake hands with
each other. How many hand shakes will there be in
total ?

TF W & o | 10 7T A U gEL | 7y faeman
o ferat sn 21y fyemn gan ?

(A) 100  (B) 20 © 45 D) 50

47,

49,

Find the wrong number in a given series.

& T sfEe § Ted 9Ed 91 Hife |
2488, 364, 412, 366
(A) 2488 (B) 364 (O 412

Find the missing number.
T d&A1 Fid Fifeg |

6 9 4

24 36 16

192 288 128

162 ? 108

(A) 279 (B) 252 (Q 243 (D) 251
A house faces South. A mancoming out of his house
from the back side of the house walked straight for
10 metres and turned 90° in the anti-clockwise
direction and walked 20 metres. He then turned 90°
in the clockwise direction and walked 5 metres and
again turned 90° in the clockwise direction and
walked 25 metres.

What will be the direction faced by him if he turns
45° in the clockwise direction ?

(A) North - East (B) South-East

(C) North - West (D) South-West
& WM g qEft 11 v & fred e 4 oA
W H 9 AW g U@ Al 10 Het O g o
ot %1 faudia fawn ¥ 90° ggwt 20 et wen| qa 9%
g feem o 90° Ye=t 5 Hiet 9en 3iR fR & wdigm
fen & 90° g 25 Hiex ==

afe ag s fam # 45° gz ® 3w qa e

fem 4 @m?
@) =

(A) -
@ IR-fm @) -y

From the given alternative words, select the word
which cannot be formed using the letters of the given
word :

frafafaa fawedl d @ 98 v g 0 fog e =g
% 1l 1 WA L T S 5 Wl
INSTRUCTIONS

(A) TUITION () STRUCTURE
(© INSTRUCT (D) SON

If MIRROR can be written as RMOIRR then how
SORROW can be written 7

7fg MIRROR %! RMOIRR foa@n =1 w&at € @
SORROW %! &% fam sn qear €2

(A) ORROWS (B) SRROOW
(© WSOORR (D) WORROS

D) 366

SPACE FOR ROUGH WORK / & &1d & ford i

55-2015/Page8



52

53.

54,

25.

PART -B / W11 - @
GENERAL AWARENESS / W= AR

Reserve Bank of India was nationalised in :

fisrd A% 1 oA 39 o g3

(A) 1947 (B) 1935 (C 1951 (D) 1949

NABARD stands for :

(A) National Business for Accounting and
Reviewing

(B) National Bureau for Air and Road Transport

(C) National Bank for Aeronautics and Radar
Development

(D) National Bank for Agriculture and Rural
Development

AU T3S (e ) 39 oiaF &

(A) TS fas8 wi Tefen uos fifafan

(B) AT A BR TR TS UL TR

(Q e ¥% Wi Yftemfeay e Yen feawviz
(D) e e B Withedt TS ¥ feaayde

Economic profit or normal profitis the same as:
(A) net profit (B) accounting profit

(O optimum profit (D) maximum profit

it @Y 9T T 1Y TE w9 H Y U |
¥

(A) MI& &4 (B) ! YA M

Q) #paoaeaE™ (D) Hivwaw &4

Surplus budget is recommended during :

(A) War (B) Famines
(O Boom (D) Depression
TS A iy aeie &1 gegf #1 96 #

(A) 4G Hd & T (B) I & A
(© it & (D) T F A

SIDBI stands for:

(A) Small Industries Developmental Banker
Institute

(B) Small Innovations Development Banker's
Institution

(O Small Industries Designed Bank of India

(D)} Small Industries Development Bank of India

TH.3E E16].3R. SHF U0 € ;

(A) WA 3em feamuie gt TIaE

(B) T 3avA feaeriz Fd T=IayA
© = T=EW fead= ¥% & 3fvem

(D) & s feaauiz 9% AfE iz

55-2015/Page9

56.

57.

What is popular sovereignty ?

(A) sovereignty of the head of state

(B) sovereignty of the people

(C) sovereignty of people’s representative
(D) sovereignty of the legal head

AN GYETT F R ?

(A) TFI = ¥id 1 9

(B) <l & Uy
(© a1 % ity F:19y=
(D) fafy i =1 =

What is ‘Reformation’ ?

(A) Change in attitude of man

(B) Revival of classical learning

(C) The revolt against authority of pope
(D) Rise of absclute monarchy

QYUI<Ier #1 §?

(A) 779 F NN SFaEr § ufiEdq
(B) Taa=AreTs I =1 [H:yadq
(© W F WE ¥ faes fade
(D) T T=IH #1329

What is plural voting system ?

(A) Eligible voter exercises one vote and some voters
with specific qualifications cast more than one
volte.

(B) All the citizens caste three votes each.

(©) Only the higher officials caste more than one
vote.

(D) Candidates themselves caste more than one
vote.

LEA LR e e o b

(A) ufa 9T U 912 <01 € 991 §9 favm drga ae
S UF A 21y 92 24 €

(B) @l Tt AAT- 37 dF e < 8
(O *aa 3=a afusrt & w @ afiw 9 @ )
(D) Wi &M U | sfus &9 33 €



59.

60.

62.

Voting is:

(A) The process by which voters exercise their right
to vote,

(B) The process of selecting representatives.

(O The unit of area who constitute a unit for
electing representative.

(D) Universal adult franchise,

Ui U YR 9

(A) = fafy & fomd die 219 92 393 % afasn =
YA B R

@) wiaffii & 937 %1 o vfea §)

(© it 92 3 9@ wiaffy F fau dm =t e =t
T S R

(D) T Uig fasafysr )

Constitutional Monarchy means :

(A) The king exercises power as granted by
constitution

{B) The king interprets the constitution

(C) The king writes the constitution

(D) The king is elected by the people

wfqufa et 71 a4 -

(A) TfEYr grT v nifsR & STar Ten & g aisdi
EIRR L

(B) U= g wfgum =t yRwfim w0

(©) TSI B \iEYF i & F=

(D) e BRI TS 1 T A

What is the currency of Saudi Arabia ?

(A) Pound (B) Dinar (C} Riyal (D) Lira
e Afem F g A ¥ ?
(4 s @ M (O fam D) f

Who was the first Indian women president of the
United Nations General Assembly ?

(A) Sarojini Naidu

(B) Golda Mayer

(O Vijaya Lakshmi Pandit

(D) Marget Thatcher

W U WEE F e nfeen wRdr ey B
ot ?

(A) TRITSH! Mg

(B) MTS 4

(© s =gt ufveq

(D) WriE &=

Bangladesh was created in:
FTET 91 I T 3 99 g8

(A)y 1970 (B) 1971 (C 1972 (D) 1973

55-2015/Pagel0

65.

67.

Gandhiji's’ Famous Quit India Movement call to the
British was given in:

A & foe mvis @1 gfag Yia 28 sr<en #31
AT i g3m ?

(A) 1940 (B) 1942

© 1941 (D) 1943

Who was the first speaker of the Lok-5abha ?
(A) B.R.Ambedkar B) G.V.Mavalankar

(O N.SanjeevReddy (D) Dr.S.P.Mukerjee
Tleh 991 & WUH AvAs 9

(A) &3, IR (8) it AR
(O . HeanRgs! (D) =i T8 FgEH

Choose the correct option which represents the

arrangement of atmosphericlayers.

(A) Troposphere, Stratosphere, Mesosphere,
lonosphere, Exosphere

(B) Mesosphere, Ionosphere, Exosphere,
Troposphere, Stratosphere

(C} lonosphere, Exosphere, Mesosphere,
Stratosphere, Troposphere

(D) Exosphere, Troposphere, Ionosphere,
Mesosphere, Stratosphere

wEl I g & o IgEvEa =t 9\ S meag

(A) WREdT AU, HAY HUSH, WA HUSH, AEA
 WUSA Y1 AETA qUEA
(B) WA AUEH, A AYSd, HAFa HUSd, TEa
HUEH, WHATT HUSH
TuEd, 9iEdd quved
(D) AT qvSd, IEd IUed, AE TUSH, 1Ty
HUEH, HHAY HUSA

Which of the following is called the Light House of
the Mediterranean ?

(A) Vesuviusof Italy

(B) Stramboli of Sicily

(@) Mount Pelee of West Indies

(D)) Paracutin of Mexico

frefafas § 4 53y 9rR #1 oEe TS FEd
¥

(A) e =1 fagfaag

(B) Touet =1 wrEeEt

(© =t gioayE +1 "rdhe el

D) A #1 Tuegfe



68.

70.

Which of the following options correctly explains

the term “heat budget” ¥

(A) It is the amount of heat which the surface of
earth receives from the sun.

(B) Itisthe radiation from the earth in the form of
long waves.

(C) Itis a mode of transfer of heat through matter
by molecular activity.

(D) [tisthe balance between incoming and outgoing
radiation.

frefafa fased # 9 30 @ fowes 99 T92 =1
e ST T 7

(A) T AT HT T8 A & 5 Yt G A TE0 F= T
(B) A= Yt 1 Tl Tl % w9 faferor €
Q) T8 TH Y | g verd # @y gt 1
(D) g% T faferm aen frfa fafswo =1 9em 1

Granite, quartzite areas have upstanding look
because ;

(A) these rocksare not easily eroded

(B) these rocks are resistant to all kinds of erosion
(O not easily worn down

(D) mechanically weathered faster

TRe, FEaEE &9 Wel ¥4 YR FHIal ¢ Hifeh :
(A) 37 = #1 fore s | 79 gen

B) & ITH & THR * H9eq F ufa ufedet §
(©Q @mErt A et & €

(D) Fitw w9 a5t A Tgefior 2t €

The ash-grey soils of high-latitude coniferous forests
are known as :

(A) Grey-Brownsoils

(B) Red and Yellow soils

(C) Tundra soils

(D) Podsols

I=4 AN F T F 74 F1 v TG g g 39 AW
B oft 9 I € -

(A) TER TR

(B) e a1 Wid He

O s

(D) HreHieH

Who of the following has given the term
rhizosphere :

(A) Hiltner (B) Garret

(C) Alexopolus - (D) None of the above
WS = Frefafea § @ fae e o 2

(A) fevem (B) e )
(©) e (D) T H I Tl

55-2015/Pagell

72.  The gene which exhibits multiple effects is known

73

74.

70

76.

as .

(A) Complementary (B) Pseudogene

(C) Pleiotropic (D) Polygene

ST S 9 FWET ) TEfE Hdt § 9% FHeam! ¢ ;
(A) R (B) YA

(Q S (D) wreftsia

Reverse transcription was discovered by
(A) Beadleand Tatum

(B) Watson and Crick
(©) Teminand Baltimore
(D) Har Govind Khorana

wfvadl wfafafy = @ fees g gd?
(A) @Ted U1 &ZH

(B) aeHA aen s

(© fa qa sedmR

(D) T GO

Which of the following plant shows chloroplast
dimorphism ?
(B) Rice

(A) Wheat

() Sugarcane (D) Sugarbeet
frefafas § ¥ $ @1 T=y FEeme SEaidEy
yaiia R ?

(A) T (B) u

(© T (D) T+

An enzyme produced by HIV that allows the
integration of HIV DNA into the host cell's DNA
:{SA} Ligase (B) Helicase

{C DNA gyrase (D) Integrase

.3 4. g 391 TIEH § o Ul it &
BT & il TH.AE . & SLUAU i gufeq

FATE :
(A) o= (B) Teilew
(Q BT TS D) ==

Microbial degradation of nitrates into atmospheric
nitrogen is known as :

(A) Nitrification (B) Denitrification

(C) Ammonification (D) Putrefaction

TS Aele & Wit T2l w1 gEAsEiy

farere a% e € -

() TREIE @) feameda
(© iR (D) FEFRA
The two specific heats of gases are related by :
gl % < faftre a9 39 g wafia #

(A) C+C =RJ B C,-C,=R/]
@ Cp/C,=R O) C,~C,=RJ



79.

81.

82.

Burns caused by steam are much more severe than

those caused by boiling water because :

(A) Steam pierces through the pores of body quickly

(B) Temperature of steam is higher

(C) Steam is gas and engulfs the body quickly

(D) Steam has latent heat

FAEd Nl BRI e i e § A9 J wor Afuw

Feee (Tisit) & € -

(A) YRR % @ 9 Iuftem (381 g1 99 e 4@
cene ik

(B) T3 =1 A% Jgd fus & ¥

() 9 & Yo | 719 § 991 92 i i Iaargd
frmm et 7

(D)« F T qT e

Which of the following particles has the dual nature
of particle-wave ?

{A) Froton (B) Meson

(C) Neutron (D) Electron
fr=fafaa fea w1 § wuim-win =t Gl
Tl € ?

(A) ﬁlﬁj (B) Wi

(©) = (D) FAHRHA
Radioactivity was discovered by :

(A) Curie (B) BecQueral
(O Rutherford (©) Soddy
Fediafida =1 @9 799% 3R 88

&) (B) FH
© TR ©) T

Which of the following is in the ascending order of
Data hierarchy ?

(A) bit-byte - record - Field - Database - File

(B) byte-bit- File - record - Database - Field

(© Field - byte - bit - Record - File - Database

(D) bit- byte - Fieid - record - File - Database
frefafea 4 =9 @1 2R s &1 E w9 82
(A) a2 - 9Re- fi=id - wiee - TPEY - Fid

B) =52 -fa2-wEd-fFE - srEw-wee

D) T2 -2 - wiee - e - et - T

A computer executes programs in the sequence
of ;

(A) Decode, Fetch, Execute.

(B) Execute, Fetch, Decode.

(O} Fetch, Decode, Execute.

(D) Store, Fetch, Execute.

STl 39 %A § U Fi Frenfeg wa €
(A) Errs, F4, Tt
®) TR, e, e

(O TE, e, Tt

@) R, 4, Tt

55-2015/ Pagel2

83.

84,

86.

87.

The metal ion present in vitamin By, is :

{(A) nickel (B) cobalt (O zinc (D) iron
fererfem =, ¥ &= W urg s Svfer wwm €2
(a) v (@) FEe O & (D) 3w

Which among the following is the sweetest sugar ?

{A) lactose B) maltose
(© glucose (D) fructose
frefefea § 3@ 9 9od H@iE8 wha §2
(A) RIS (B) Hiee=
© eI D) FFE=

Muddy water is treated with alum in purification
process, it is termed as

(A) adsorption (B} coagulation

(©) emulsification (D) absorption

e & gfsma o g ot 1 SR fhewd 9@

A & 9% WehAT =1 Fean & ?
(A) aTfereimgo (B) Th=<RL
(© FHEHIF (D) F=¥imoy

Ultra purification of a metal is done by :

(A} smelting (B) leaching
(C) zone melting (D) slagging
HIgA! 1 WY 395 510 fwar A & -
(A) s (B) wfeET

(© ¥ #feEn (D) i

Which one among the following industries is the
maximum consumer of water in India ?

{A) Engineering (B) Paperand Pulp
{O) Textile (D) Thermal power
WRded | Freafafea feg 3am 9 o +1 @ea 998
afu Bt %2

(A) ATvEIART/SAAT (B) T a9 T

(€ e ¥Em (D) &He

The layer of atmosphere close to the earth’s surface
is called :

(A} Exosphere (B) Ionosphere
(C) Stratosphere (D) Troposphere

Qe % WHTY 9T 14 AT SEHSHE WA 4 weedt

22
(A) UHREFR (B) SITEARFRA
O WA (D) rdreEa



89,

93.

Evergreen type Forests are found in:
(A) Equatorial region

(B) Mansoon climatic area

() Desert region

(D) Mediterranean region

TR T S R A 99 §

(A) T T 8

(B) THYA araTy &

(O T

(D) HEAATIY &

Day and Night are equal at the:

(A) Equator (B) Poles
(C) Prime Meridian (D) Antarctic
WREAIT @ F TR IR

(A) T B) ¥

(O THE I (D) “erhfeant

Swaraj is my Birth Right and I shall have it. This
was advocated by :

(A) Lala Lajpat Rai (B) Lokmanya Tilak
(O Mahatma Gandhi (D) Sardar Patel

O 30 9 fag Afasr € ol § @ v d wm

g Theh1 T 917

(A) AT T T B) A= faas
(O wewHT it (D) TR IS
Pulses are obtained from the family :

(A) Fungi (B) Liliaceae

(O Cycadaceae (D) Leguminosae
T TIRHl i 36 F ¥ WE At ]

(A) FaF (B) faeasdt

© wEHSE (D) St

The One Rupee Note bears the signature of :
(A) Secretary, Ministry of Finance

(B} Governor, Reserve Bank of India

(C Finance Minister

(D)} None of these

U% ¥4 ¥ A1 W F0F eemen en §2

(a) fom s & afaa &

(B) o d% % s & TR

© fwwt

(D) 79 = T

Which among the following is a folk dance of
India ?

(A) Manipuri (B) Garba

(O Kathakali (D) Mohiniattam
Frafafaa § #F 1 wida dieTa 82

(A) woTgdt (B) T

(Q Huwe (D) ey

55-2015/Pagel3

97.

100.

First Nobel Prize to India was given for :

(A) Physics (B} Literature

() Medicine (D) Chemistry

A i W9 e [ORR 38 fawy & fea faam mn
qq:

(A) it

(Q imafy fagm

(B) Wiiee
(D) A oA

Best way to conserve our water resources :

(A) Rainwater harvesting

(B) Sustainable water utilization

(C) Encouragement of natural regeneration of

vegetation
(D) Allabove
el WHEYAT & HEv 1 wEd A A
(A) 991 & W& F1 HIE
(B) |ad siel I9Fifiran
() Wi FTEafa =1 resA @l Tedfed ST

() I a+ft

The best milch breed in the world is:

(A) Chittagong (B) Deoni
(©) Holstein - Friesian (D) Sindhi
AR & gataw i 7= ¥

(A) faemin ®) feaimd
(OB e R IHERE (D) faw

Who initiated the rmovement to form the Indian

National Congress ?
(A) A.O.Hume (B) W.C. Bannerjee
(C) Annie Besant (D) Gandhiji

YA WL FilE & 73 g9l i &1 e

YE3a & ?
(A) T30 TH ®) =, . St
© Uit (D) st

In which year the indian National Congress
formed ?

WA T FI9 &1 737 T8 99 g1 o :

(A) 1835 (B) 1885 (O 1901 (D) 1875

Raja Rammohan Roy was the founder of :
(A) AryaSamaj (B) Brahmo Samaj
(C) Ram Krishan Mission () Prarthna Samaj

T G TN T T 14 4 -
(A) I qur (B) =TI
(© THF faeA (D) T



101.

102.

103.

104.

PART - C / 90T - T
QUANTITATIVE APTITUDE / QRHTUTRTeh 3ifust=

3 1
If q of a number is 7 more than 5 of the number,

then 3 of the number is :

qﬁrﬁﬁﬁmm% mmﬁémmam

; 5
rﬁm‘@nmgi:

(A) 12 B) 15 ©Q 18 D} 20

The least number which when divided by 6,9, 12,
15, 18 leaves the same remainder 2 in each case, is :
9% agad |e fsraet 6, 9,12, 15, 18 9 faswrfsm w47
T Il e § S9%d 2 AR

(A) 176  (B) 178 (O 180 (D) 182

4 men and 6 women complete a work in 8 days,
2 men and 9 women also complete in 8 days. The
number of days 18 women complete the work :

Ifg 4 TN 3R 6 Tt et & #1 8 foqi # @
L opudnofomii g i s W &1 @
18 fozal 3o = & fera? feAl o qu it ?

(A) 5% days/f&d (B) 5% days/f&a

© 4-:— days/f& (D) 4% days/ e

A's 2days work is equal to B's 3 days work. If A can
complete the work in 8 days then to complete the
work B will take :

AFI2 i 1w B & 3 fedl & & & |gar 2
afg A 30 %14 91 8 & § Qo & ot B 3w A

fare fetl o g s ym ?
(A) 14 days/f& (B) 12 days/f&
(Q 15 days/fE (D) 16 days/f&

105.

106.

107.

108.

109.

110.

If 4 men or 8 women can do a piece of work in
15 days, in how many days can 6 men and
12 women do the same piece of work ?

7T 4 TF9 1o g el vt @ =1 15 feml F =
Tehdl €, Tl 6 T80 37 12 foat 34t & =1 fang fei
HFLHFAE?

(A) 45 days/fed
(©Q 30 days/f&=

(B) 15 days/f&
(D) 20 days/fe

If the altitude of an equilateral triangle is 1243 cm,
then it's area would be :

Ife ww guarg e &1 vides 1203 em § @
I HARS foha1 2 ?

(A) 72 cmd
© 36,3 cm?

If the volume of a sphere is numerically equal to its
surface area, then its diameter is:

g TF el 1 AGd S&s ®4 4 396 I<8H

AR F TE § 0 IR AW E
(A) 2Zem  (B) 3cm  (C) 4cm (D) 6cm

5 persons will live in a tent. If each person requires
16, m? of floor area and 100 m? space for air then the
height of the cone of smallest size to accommodate
those persons would be:

5 Sfe % <= # Wil 3 v+ =R i 16 m?
it 8 3T FRY % AT 100 m? & S10e =it STEvasHa
2 1 37 =afe i 30 e &4 % fau oEe e S

B) 14443 cm?
D) 12 cm?

i S fora @i ?
(A) 20m B) 18.75m
(O 16m (D) 10.25m

Find a single discount equivalent to a discount series

of 10%, 20% and 25%.

10%, 20% 3 25% B2 J@c & o3 Thel g2 7
F)

(A) 55% (B) 45% (O 46% (D) 52%
An article which is marked at ¥ 975 is sold for T 897.
The % discountis :

¥ 975 feFd e Il U &g &1 T 897 | o1 A
HER S E

(A) 6% (B) 8% © 10%

D) 12%

SPACE FOR ROUGH WORK_/ T% &1d & o sme
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111.

112.

113.

114.

115.

116.

The difference between successive discounts of 40%
followed by 30% and 45% followed by 20% on the
marked price of an article is¥12. The marked price
of the article is :

el a5 & sifa 909 T 40% 39% 41§ 30% 3R
45% 30F 915 20% Fi TR 2 F ART1281 34

(A) €200 (B) T400 (O) T 600 (D) T800

If A and B are in the ratio 4 ; 5 and the difference of
their squares is 81, what is the value of A ?

gfe A AR B 1 I7UG 4: 5 ¥ 3R FFF a0l 1 A
81 %, @ A %1 W foran €2
(A) 15 (B) 12 Q 36 D) 45

What must be added to each term of the ratio 2 : 550
that it may equal to5: 67

2: 5 AT & TS TS o ¥ gl 9 =i e
% 5 6 F TG B WY ?

(A) 65 (B) 78 © 13 D) 12

The average marks obtained by a student in
6 subjects is 88. On subsequent verification it was
found that the marks obtained by him in a subject
was wrongly copied as 86 instead of 68. The correct
average of the marks obtained by him is:

forelt faemeft =1 6 fawai o we gu ofraa o 88 €
e H T O R/ 7 Tl e 5 o ey 0w
3% I Mot B 68 F TR W 86 for@ femn ) 3@
maﬁﬁﬂﬁ#ﬂﬂ%

(A) 86 (B) 87 © 85 (D) 84

What is the arithmetic mean of first 20 odd natural
numbers ?

wum 20 faun wfas GEnsii &1 gqia qreg 77 § 2
(A) 17 ®) 19 © 20 D) 22

Cost price of 100 books is equal to the selling price
of 60 books. The gain or loss percentage will be :

100 &=l 1 TN 9 60 L=l & foaha 789 &
TR ¥ E A B 1 Wi R 2

B) 66-%

(A) 66% 2

2 3
[.I::. 66 E‘E"E- ﬂ:}} ﬁEE".-"rn

117.

118.

119.

120.

121.

122,

In an examination, a student must get 36% marks to
pass. A student who gets 190 marks failed by 35
marks. The total marks in that examination is :

fat witen # =il €M F faw vs faemefl +1 36%
FF FFYE WH F R0 1 190 3 9H F{ a6l Th
faendi 35 il @ % T I T F it e
(A) 450  (B) 500 (O 625 (D) 810

A trainruns at an average speed of 75 km/hr. [fthe
distance to be covered is 1050 km, how long will the
train take to coverit?

o st 75 TRt wia v =t oftga nfa @ It
AW fFW FgimaFH R ae @

<l i foraa @ o w1 |00 2
(A) 13 hrs/%¢ (B) 15 hrs/He
(©) 14hrs/5R (D) 12 hrs/He

A train 180 mts long is running at a speed of
90 km/h. How long will it take to pass a post ?

T 180 Y. =&l YermE 90 f. . vfa der =t nfa =
99 T 7| TF U A e ¥ 9% e g i ?
(A) 7.8 secs./q. (B) 8 secs./H.

(O 7.2secs./%. (D) 8.2secs./H.

The certain sum will amount to ¥12,100 in 2 years
at 10% per annum of compound interest, interest
being compounded annually. The sumis:

s Ut foaw == =ffs &9 |« o g,
10% ¥fa a4 whgfe == W 2 96l ¥ 212,100 &
it e uw E
(A) 10,000
(© 6,000

(B) Z 8,000
D) T 12,000

If x =2 then the value of ¥ + 27x*+ 243x + 631 is :
e x=2 8 WA P4+ 27:2+243x +631 FIHA B :

(&) 1211 (B 1231 (O 1233 (D) 1321
If 5x + 9y =>5 and 125x> +729y% = 120 then the value
of the product of xrand yis:

AfE 5x+9y=5 M 1253+ 7293 =120 W x 3R y
F TR FRIARR :

(A) 45 (B) 135

O % © Xss

SPACE FOR ROUGH WORK / 7% &1 & fad s
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124.

125.

126.

128.

If x = d—rivl-n then (x+ 1) equalsto:
o 03
qﬁr-ﬁ+
(A) 2 ® (V2+1)
@ (V2-1) D) 2

Among the equations x+2y+9=0; 5x—4=0;
2y—13=0; 2x— 3y =0, the equation of the straight
line passing through origin is:

FUTHIM x+2y+9=0; 5x-4=0; 2y -13=0;
2x—-3y=0 " | qa fag | o7 et 9 @ H
qHF ¢

(A) x+2y+9=0 (B) 2y—13=0

QO 5x—4=0 O 2x-3y=0

The HCF of x®—1 and ¥4 4+ 2x® - 2x—1is:
xB—1 3N 21 +2:3 - 2x — 1 F1 A9 GHITEGS € :
(B) x2-1

(A) x-1
Q x+1 D) x2+1
24 72
[f.:'f_ilz?thenthevalueafx 'His
12
; - X
I +1 _7 't?ﬁ x'2 +1 ﬂiTqu'a'
xl? x 8
(A) 322 (B) 343 Q) 432 (D) 433

The area of the triangle formed by the graphs of the
equations x=0, 2x+3y=6 andx+y=3is:
(A) 1sq.unit (B) 3 sq.unit

1
© 4% sq. unit D) 15 sq. unit
x=0, 2x+3y=6 3R x+y=3 GHEHW TR | T
e =1 gwE B

@) 19 R
Q 4 T

(B) 391 gf=
o) 15 FHafe

If p =99, then the value of p(p?+ 3p +3)is::
IR p=99 Bl p(p?+3p+3) FMHA R ;
(A) 989898 (B) 998889
© 999999 (D) 988899

129,

130.

131.

132,

If the number of vertices, edges and faces of a
rectangular parallolepiped are denoted by v, eand f
respectively, the value of (v—e+f)is:

g foret wahifors waim sewas & vl R ok
FHarl 1 & F FHI: 0, ¢ 3N £ g T e
SR, W (p—e+f) FIUAR :

(A) 2 (B) 0 ©1 D) 4

If the measure of three angles of a triangle are in the
ratio 2:3: 5, then the triangle is :

(A) obtuse angled (B) isosceles

(O equilateral (D) right angled

i fFdft @S d i w A 2:3.5 I E §,
qaE ﬁﬂ,'_" T
(A} Ffa=mig

(Q uweg

(B) THIgETg
(D) EH=HMI

If the three angles of a triangle are (x + 15°),
(E’?I + ﬁ“]and [T + aﬂ“) Then the triangle is :

(A} isosceles
(C) rightangled

s o B F AT B (5 4 150), [—5- +ﬁ"] s

(B) equilateral
(D) scalene

[? +3ﬂ“]‘hﬁfﬂ“ﬁ
(A) wwfgaTg (B) HHeTg
© TmIviT (D) T g

G is the centroid of AABC. The medians AD and BE
intersect at right angles. If the lengths of AD and BE

are 9 cm and 12 cm respectively; then the length of
AB(incm)is:

G, AABC ¥1 &< %1 s AD 3R BE waahvif
1 wireog s ® 1 afe AD iR BE Y = ww:
9F . 3R 12 §7. & @ AB = e (F 1, o)
fert &2

(A) 9.5 B) 10

© 105 (D) 11

SPACE FOR ROUGH WORK / T% &4 & f&d g
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133. Internal bisectors of £ZQ and R of APQR intersect

atO. If #/ROQ = 96° then the value of ZRPQ is:
APQR & £Q ¥R ,r & #Adlw fguesd O W
yfoese i g1 AC LROQ=96° %, @ LRPQ
AA g

(A) 6 ® 122 (O 24° (D) 36°
If a person travels from a point L towards east for
12 km and then travels 5 km towards north and
reaches a point M, then shortest distance from L to
Mis:

Ifz ws =fag fag L | 7@ 1 312 1. ot fe
S %t 3R 5 .41, amn F € o foig M W wgTa
RALIMA ol ®:

(A) 12km/FR . (B) 13 km/f&.4,

(© 14km/fw . (D) 17 km /.=,

Let C; and C, be the inscribed and circumscribed
circles of a triangle with sides 3 cm, 4 cm and 5 cm.

134.

135.

area of Cy is
areaof C;
T d & ¢, 3 C, & e ¥ afa.ga s ufiga €
ot e 3 AL, 4 G 3ﬂt5ﬂ1ﬁ gL

C; ¥ 8% t:
C, I &T%d

16 1 9 9
B B OapQs
If D, E and F are the midpoints of BC, CA and AB
respectively of AABC then the ratio of area of the
parallelogram DEFB and area of the trapezium
CAFDis:

Ifg AABC % BC, CA #R AB &% #9¥1: v g D, E
3 F & @ 9uiat 9949 DEFB % 99%d ok aree
CAFD & &A%6 &1 A6 N8 ?

(A) 2:3 B) 1:3 © 3:4 D) 1:2
The minimum value of 2sin?8 + 3cos28 is :
25in20 + 3cos?0 HT a4 71 ¥ :

w1  ®2 ©3 (D4
The value of sin?22° + sin%68° + cot?30°is :

sin?22° +5in%68° + cot230° #1 UM ¥ :

3
® 4  ©

136.

137.

138.

5
@ 5 O 3

139, 1f5sin@=3; the numerical value of 2<% —tand .

sech -+ tanf
g 5sing=3 &, @ 329 ~ a0 o e WA
sech + tand _
2:
1 1 1 ]
Wi B3 O3 O3

140, [fsech +tan8=p, (p « 0) then sect isequal to :

AfE sech +tand=p, (p= 0) T I sech TS e ¥ ?
1 1 1
(A) E(P— E] p#0 (8) E(p+ F} p=0

p+l;p#l:l p—l,p#ﬂ
© p D) n

141. If 0 be acute angle and tan{48 — 50°) = cot{50° — @),

then the value of 8 in degrees is

Ifg 6 7 0T T N tan(40 — 50°) =cot(50° — 6) &,

ﬁ?ﬁﬁﬂ'&ﬂm%:

(A) 20 (B) 30 (D) 50
22

If the sum and difference of two angles are e radian

© 40
142,

and 36° respectively, then the value of smaller angle |

in degree taking the value of 7 as 2 .

7
oife 2 F1oi =1 9m S s Fawm: % ez 3w 36°

¥ A afe « w1 o= 1;_3 T A @ SEFd @Y S

FfeM A AR g
(A) 48° (B) 52° (O 56 (D) 60°

143. Akite is flying at the height of 75 m from the ground,

The string makes an angle 8 (wthrE coth = %)

with the level ground. Assuming that there is no
5lack in the string, the length of the string is equal

ﬁnanigﬁ#ﬁ?str“r 9 WIS @R
IqHT B Yf1 & WA 0 F FI T @ 2

(sﬂﬁcmh%%]mﬁﬁﬁﬁlﬂﬂ’ﬁéﬁaﬁf

& o S =1 T feadt €72

(A) 85m _B) 75m (O 40m (D) 65m

SPASE FOR ROUGH WORK / & &1 & fad s
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Directions : Given here a multiple bar diagram of the scores
of four playerstin two innings. Study the diagram and
answer the questions no. 144 to 147,

frer : 7= 9n faanfedi 1 <) wfdi % w6 =1 9g an-m
fem ma &1 i@ 1 AT Hi SN WY WEa 144 § 147

FIHI
" 1% Innings
100 gl it
L) nd A
27 Innings
80 + 2 i
= 70 + Eiaﬂ
EEl o) -
§E 50 + i
ZE| 40 +
= 3 4 |
2 i | |
10
o L1 B
MAHENDRA VIRAT CHETESWAR SHIKHAR
SINGH KOHLI PUJARA DHAWAN
DHONI
wefAr e TR foman
I Wit Ear | kil DER
144. The average run of two innings of the player who
scured highest in average is :
21 wifedi | I=an i TR U w96 faendt &
AFAFAE
(A) 75 B) 70 (© 80 (D) 85
145. The average run in two innings of the player who
has scored minimum at the second innings is :
TR0 I § 999 $9 TR e S T f@enst #
QA1 wif % ftea @ E
(A) 60 (B) 50 Q 40 (D) 30
146. The total scores in the first innings contributed by
the four playersis :
gee! gl | =1 faenteal g faee =9 w0 e
@ ;
(A) 190 (B) 200 (O 210 ) 220
147. The averagé score in second innings contributed by
the four playersis:
Tl 9t ¥ =R faenfedl &1 oitad =
(A) 30 B) 40 (© 50 D) 60

Directions : The pie-chart given here shows expenditure
incurred by a family on various items and their savings.
Study the chart and answer the questions number
148 to 150 based on the pie-chart.

fador: T o-=R ¥ = qftan g fafis wei o e
T 3R A1 TG F 99 TR AR w1 S99 S i
UE-91 T 39fid 148 | 150 95F & ¥l &1 T 1

Education

148. The ratio of expenditure on food to savings is:

I @9 i 794 1 749 :

(A) 3:1 (B 3:2 (O 2:1 (D) 10:9

149. If the expenditure on education is T 1600 more than

that of housing then the expenditure on food
is :

afe foen W @ 9H @ A T 1600 31fus T 61 A
| T

(A) T 12,000
© 73333

(B) T 6,000
D) T 7,000

150. If the monthly income is T 36,000 then the yearly

savingsis
afe wIfE= 3T 2 36,000 8 @ =UF a=q ¢
(A) T 60,000 (B) ¥ 70,000

(Q T 74,000 M) T 72,000

SPACE FOR ROUGH WORK / 1% &1d & fod s
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144.

145.

146.

147.

FOR VISUALLY HANDICAPPED/CEREBRAL PALSY CANDIDATES ONLY

The least integral value, which can be given to * so
that the number Y7215* 6 is divisible by 33, is .

+ & femn s 9 96N 9% AW Wed UH 91 8
fagn d&m 97215+ 6, 33 9@ favs 21

(B) 1
L) 3

(A) 0

© 2

Given that J55 = 742 , evaluate -M :
11 -5
qfe 55 = 7.42 %_fﬁM F1 YedihT B ;
J11 =5
(A) 5.14 (B) 6.42
© 742 D) 7.71

One internal angle of a regular polygon is 172°. Find
the number of sides of the polygon.

UF WY qEYA F AdfiE R 172° 1 FEYS F
nuieEakci e s

(A) 52

© 50

B) 40
D) 45

The ratio of two numbers is 7 : 8 and their sum is 75.
The L.C.M. of the two numbers is:

| WS H1 A9 7: 8 § i TR Am 75 ) =

2l HEnaA! w1 AEH TEEd §
(A) 250 B) 175
Q) 200 (D) 280

148.

149.

150.

In a partnership business, the ratio of A, Band C's
investments is 5: 2 : 6 and the ratio of time they
invested foris2:3: 4. Their profit ratio will be :

UF WEeil FAET H A, B A C % A9 # s
S:E:E%Hﬂlﬁﬁ?ﬁ%ﬂﬂﬂmﬁrﬂﬂﬁmﬁiﬂz 4
T I9F WY HT AUE = w2

(A) 5:3:12 B) 3:5:12

O 3:12:% D) 12:5:3

A train covers 108 km in first 2 hrs, 36 km in the next
half an hour and 90 km in next 2 hours. Its average

speed is .

(A) 48 km/hr (B) 50km/hr

(© 52km/hr (D) 54km/hr

UF M 9B 2 52§ 108 fF.9., et amg He §
36 foF. ol 3 It 2 & H 90 fRHdl. %1 g1 ™
F &1 I oA fa B -

(A) 48 f& =t /5 (B) 50 % /521

(© 52 f&.H. /52 (D) 54 f&.H. /9=

50% of the difference of 40% and 20% of a number
exceeds its 5% by 20. The number is :

foet Tem & 40% A 20% & SHa FT1 50% 39F 5%
20 Afirs 21 FJEHEN T
(A) 200 (B) 400

© 600 D) 800

SPACE FOR ROUGH WORK / T & & fod sig
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PART - D
ENGLISH COMPREHENSION

Directions : In questions number 151 to 155, some parts of
the sentences have errors and some are correct. Find out
which part of a sentence has an error and blacken the oval
[ @ ] corresponding to the appropriate letter (A, B, C). Ifa
sentence 15 free from error, blacken the oval corresponding
to (D) in the Answer Sheet,

151. Hecanbe /abasketball player since /

(A) (B)

he is tall like a mule. / No error
(€) (D)

152. Just outside my house / are a playground /

(A) (B)

for school, boys and girls. / No error
(© (D)

153. Who/ doyou think / Imet? / Noerror

(A) (B) © M

154. [tisnotadvisable / totake heavy lu

uggages /
(A) (B)

while on ajourney. / Noerror
(©) (D)

155. Abird in the tree /is worth / two in the bush. /

(A) (B) (©)

No error
(D)

55-2015/ Page20

Directions : In questions number 156 to 160, sentences
given with blanks to be filled in with an appropriate
word(s). Four alteratives are suggested for each question.
Choose the correct alternative out of the four and indicate
it by blackening the appropriate oval [ @] in the Answer
Sheet.

156. When the morning , the murder was

discovered.
(A) occured (B} happened
(Q came (D) arrived
157. The appearance of the city day by day.
(A) had changed (B) could change
(©) changed (D) is changing
158. The smell of the sea called memories of
her childhood.
(A) on (B) up (& back (D) for
159. The police fired on the mob when they
(A) fizzled out (B) turned violent
(O - became abusive (D) turned noisy
160. He has the full facts but is deliberately
hiding them.

(A) up his sleeves
(O under his sleeves

(B} in his sleeves
(D) upon his sleeves

Directions : In question numbers 161 to 163, out of the four
alternatives, choose the one which best expresses the
meaning of the given word and mark it in the Answer Sheet.

161. BOARD

(4) Lodging () Frame

(O Furniture (D) Food
162. SPUME

{A) Spit (B) Poison (C) Foam (D) Lava
163. PERUSE

(A) Read (B) Reduce

(© Argue (3} Fellow



Directions : In questions number 164 to 166, choose the
word opposite in meaning to the given word and mark it
in the Answer Sheet.
164. VACILLATION
(A) remorse (B)
(O inoculation

relief
(D) steadfastness

165. EFFEMINACY
(A) Aggressiveness (B) Attractiveness
(& Manliness (D) Boorishness
166. PLACID
(A) dull (B) urgent
(© moving (D) stormy

Directions : In questions number 167 to 171, four
alternatives are given for the Idiom\ Phrase underlined in
the sentence. Choose the alternative which best expresses
the meaning of the Idiom\, Phrase and mark it in the Answer
Sheet.
167. Instead of keeping his promise of helping me with

office work, he just left me high and dry.

(A) left me without a drop of water

(B) left mealone to do the work

(O left me feeling like a fool

(D) left me in a state of anger

168. Unless you make amends for the loss, nobody is

prepared to excuse you.
(A) pay debt (B) confess
(O compensate (D) improve

169. ' Before the report reached the authority the media
spilled the beans.
(A) spilled the contents of the package
(B) dropped thecharges
(O) revealed the secretinformation
(D) hinted at the consequences

170. His friend turned out to be a snake in the grass.
(A) cowardly and brutal
(B) anunreliable and deceitful person
(© ahiddenenemy
(D) low and mean

171. Amit said to Rekha, “Don’t make a mountain out of
a molehill.”
(A) create problems
(B) exaggerate aminor problem
(C) attemptan impossible task
(D) startlooking for molehills in mountains

S5-2015/Page21

Directions : In questions number 172 to 181, a sentence/a
part of the sentence is underlined. Below are given
alternatives to the underlined part at (A), (B), (C) which
may improve the sentence. Choose the correct alternative.
Incase no improvement is needed your answer is (D). Mark
your answer in the Answer Sheet,

172. She could not help but laugh.
(A) laughing (B) butlaughing
(O laughter (D) noimprovement
173. We met yesterday, haven’t we ?
(A) didn'twe? (B) hadn'twe?
(C) isn'tit? (D) noimprovement

174. 1took my mother some grapes when she was in

hospital.

(A) Ibrought my mother some grapes
(B) Itooksome grapes for my mother
(O Itook for my mother some grapes

(D) noimprovement

175. The world is being f
(A) confronted

(©) infrontof

a crisis.

(B) facing
(D) noimprovement

d wi

176. Both the teams played the game fairly.
(A) fairly played the game

(B) played fairly the game

(O played a fair game

(D) noimprovement

177. The others shook their heads and made vague noises

of approval.
(A) turned around

© hung

(B) nodded
(D) noimprovement

178. If I will get an opportunity, [ shall attend the seminar.

(A} shall get (B) got
(O get (D) noimprovement

He does not la ugh, nor he smiles,
(A) nor he does smile

(B} neither he does smile

(C) nor does he smile

(D) noimprovement

179.



180. She insisted pn she was innocent.
(A) insisted on that (B) insisted that
(O insisted with (D) noimprovement

181. You must endure what you cannot cure.

(A) prevail (B) accept
(© suffer (D) noimprovement

Directions : In questions number 182 to 188, out of the four
alternatives, choose the one which can be substituted for
the given words/ sentences and indicate it by blackening
the appropriate oval | & ] in the Answer Sheet.

182. One who runs away from justice or the law.

(A) Fugitive (B) Criminal

(© Thief (D) Smuggler
183. One who is too careless to plan for the future.

(A) imprudent (B) improvident .

(C) impractical (D) impotent

184. A person who deserves all praise:

(A) detestable (B) lovable

(O despicable .(D) laudable
185. Ofone’s own free will:

(A) obligatory (B) compulsory

(© wvoluntary (D) mandatory
186. A study of ancient things :

(A) Archaeology (B) Ethnology

@ Physiology (D) Zoology
187. One who is skillful.

(A) diligent (B) different

(C) disciplined (D) dexterous
188. Ome who has longexperience.

(A) novice (B) expert

(Q practitioner (D) veteran

Directions : In questions number 189 to 190, four words '

are given in each question, out of which only one word is
correctly spelt. Find the correctly spelt word and mark
your answer in the Answer Sheet.

189. (A) circumlocution (B} circmlocution
(O circumlocation (D) circumlocutien
190. (A) Diffussion JB) Diffusion
(O) Defusion (D) Deffusion
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Directions : In questions number 191 to 200, you have two
passages with 5 questions following each passage. Read
the passages carefully and choose the best answer to each
question out of the four alternatives and mark it by
blackening the appropriate oval [ @] inthe Answer Sheet.
PASSAGE - I (Questions number 191-195)

Journalists argue over functions of a newspaper. I
feel that a provincial paper’'s purpose is not only to present
and project the news objectively and imaginatively, but to
help its readers to express themselves more effectively,
canalizing their aspirations, making more articulate their
demands. A newspaper should reflect the community it
serves-warts and all. When the mirror is held to society it
reveals neglect, injustice, ignorance or complacency. It
should help to eradicate them. It would be pretentious to
think that a newspaper can change the course of world
affairs - but at the local limit it can exert influence, it can
probe, it can help get things done. The individual’s voice
must not be stifled. Instead, the readers should be
encouraged to express their opinions, fears, hopes and or
their grievances on this platform.

191. What is the main purpose of a newspaper ?

(A) To present facts in a blunt way

(B) Encourage the readers to be pretentious

(C) Project news objectively and imaginatively

(D) Exert influences on the individuals
192. In this passage the writer highlights the fact that :
(A) Newspapers can eradicate injustice
(B) Journalists differ in their opinion on the

function of a newspaper

(C) A newspaper should reflect the community it
serves

(D) A newspaper should only concentrate on local
affairs

193. How can a newspaper influence local affairs ?

(A) By influencing public opinion through half
truths.

(B) By focusing on world affairs.

(O By probing into the ills of society and rallying
support for change.

(D) By encouraging the readers to accept their
grievances,

194. How can the readers air their grievances ?
(A) By writing to their local newspaper.
(B) By writing to journalists.

(C) By supporting the local newspaper.

(D} By being complacent.



195. The expression‘warts and all’ in the passage means.
(A) thereader’s grievances
(B) the community’s problem
(O hopes and fears

(D) with no attempt to conceal blemishes or
inadequacies

PASSAGE -1 (Questions number 196-200)

True, it is the function of the army to maintain law
and order in abnormal times. But in normal times there is
another force that compels citizens to obey laws and to act

with due regard to the rights of others. The force also |

protects the lives and properties of law abiding men. Laws
are made to secure the personal safety of its subjects and to
prevent murder and crimes of violence. They are made to
secure the property of the citizens against theft and damage
and to protect the rights of communities and castes to carry
out their customs and ceremonies, so long as they do not
conflict with the rights of others. Now the good citizen, of
his own free will, obeys these laws and he takes care that
everything he does is done with due regard to the rights
and well-being of others.

But the bad citizen is only restrained frombreaking
these laws by fear of the consequence of his actions. And
the necessary steps to compel the bad citizen to act as a
good citizen are taken by this force. The supreme control
of law and order in a state is in the hands of a Minister
who is responsible to the State Assembly and acts through
the Inspector General of Police,

196. Which of the following statements is not implied in
'the passage ?

(A) Law protects those whorespect it.

(B) Law ensures people’s religious and social
rights absolutely and unconditionally.

(O A criminal is deterred from committing crimes
only for fear of the law.

(D) The forces of law help to transform irresponsible
citizens into responsible ones.

197, According to the writer, which one of the following

is not the responsibility of the police ?
(A) To protect the privileges of all citizens.
(B) To check violent activities of citizens.

(O To ensure peace among citizens by
safeguarding individual rights.

(D) To maintain peace during extra ordinary
circumstances.
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198. The expression ‘customs and ceremonies’ means :
(A) Fairs and festivals
(B) Habits and traditions
(O Usual practices and religious rites
(D) Superstitions and formalities

199. Which one of the following statements is implied in

the passage ?
(A} Peaceful citizens seldom violate the law.

(B) Criminals, who flout the law, are seldom
brought to book.

(O The police hardly succeed in converting bad
citizens into good ones.

(D) The police check the citizens, whether they are
good or bad, from violating the law.

“They are made to secure the property of citizens
against theft and damage”, means that the law :

(A) Helps in recovering the stolen property of the
citizens.

(B) Assists the citizens whose property has been
stolen or destroyed.

(O Initiates process against offenders of law.

(D) Safeguards people’s possessions against being
stolen or lost.

-00o0-
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